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�>OE=<F5?L=4O 74?<E>4. 

� E>>F65FEF6<< E ?G=>F>< 3 G4EF< 2 EF4FL< 29 $545D4?L=>7> 74>>=4 >F 29 
45>45DO 2012 7>44 7273-$� «�5 >5D47>64=<< 6 $>EE<=E>>= $545D4F<<», 
?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 
14.06.2013 7>44 7462 «�5 GF65D645=<< �>DO4>4 ?D>6545=<O 
E4<>>5E?54>64=<O >5D47>64F5?L=>= >D74=<74F<5=», ?D<>47>< �<=<EF5DEF64 
>5D47>64=<O < =4G>< $>EE<=E>>= $545D4F<< >F 10.12.2013 7>44 71324 «�5 
GF65D645=<< ?>>474F5?5= 45OF5?L=>EF< >5D47>64F5?L=>= >D74=<74F<<, 
?>4?564M5= E4<>>5E?54>64=<N», ?D<>47>< �<=<EF5DEF64 >5D47>64=<O 
$5E?G5?<>< �><< >F 10.02.2014 7>44 727 «�5 >D74=<74F<< D45>FO ?> 
?D>6545=<N E4<>>5E?54>64=<O >5D47>64F5?L=O<< >D74=<74F<O<<, DG=>F<< < 
?>?=><>G<O GGD54<F5?O >>F>DOE >EGM5EF6?O5F �<=<EF5DEF6> >5D47>64=<O 
$5E?G5?<>< �><<» E4<>>5E?54>64=<5 45OF5?L=>EF< 7>EG44DEF65==>7> 
?D>D5EE<>=4?L=>7> >5D47>64F5?L=>7> GGD5645=<O «%>E=>7>DE><= 
F5E=>?>7<G5E><= F5E=<>G<» ?D>6>4<?>EL =4 >E=>64=<< ?D<>474 4<D5>F>D4 
F5E=<>G<4 >F 01.03.20147. 71004 «�5 >D74=<74F<< D45>FO ?> ?D>6545=<N 
E4<>>5E?54>64=<O».   

  �7> F5?LN O6?O?>EL >55E?5G5=<5 4>EFG?=>EF< < >F>DOF>EF< <=D>D<4F<< 
> 45OF5?L=>EF< GGD5645=<O. 

  �><<EE<O ?> ?D>6545=<N E4<>>5E?54>64=<O ?D>4=4?<7<D>64?4 
?D54EF46?5==O5 <4F5D<4?O ?> >D74=<74F<>==>-?D46>6><G >55E?5G5=<N 
>5D47>64F5?L=>= 45OF5?L=>EF<, EFDG>FGD5, >4G5EF6G, E>45D64=<N < 
>55E?5G5=<N >5D47>64F5?L=>7> ?D>F5EE4, GE?>6<O< D54?<74F<< 
?D>D5EE<>=4?L=OE ?D>7D4<<, E>EF>O=<N <4F5D<4?L=>-F5E=<G5E>>= 547O < 
D<=4=E>6>7> >55E?5G5=<O, 4 F4>65 6>?D>EO FDG4>GEFD>=EF64 6O?GE>=<>>6 < 
>F7O6O > >4G5EF65 <E ?>47>F>6><. %4<>>5E?54>64=<5 ?D>6>4<?>EL ?> 
=4?D46?5=<O< < 6 ED>>< GEF4=>6?5==O5 ?D<>47>< > ?D>6545=<< 
E4<>>5E?54>64=<O.  

�> D57G?LF4F4< E4<>>5E?54>64=<O E>EF46?5= =4EF>OM<= >FG5F, 6 >>F>D>< 
?>46545=O <F>7<, E45?4=O 6O6>4O ?> E>45D64=<N >E=>6=OE 
>5D47>64F5?L=OE ?D>7D4<<4< ?> GGD5645=<N 6 F5?><. �>>474F5?< 
E4<>>5E?54>64=<O D4EEG<FO64?<EL =4 >E=>64=<< E6545=<=, >FD465==OE 6 
D>D<4E EF4F<EF<G5E>>= >FG5F=>EF<. 
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1. �5M<5 E6545=<O >  7>EG44DEF65==>< ?D>D5EE<>=4?L=>< 

>5D47>64F5?L=>< GGD5645=<<. 

�>?=>5 =4<<5=>64=<5: 7>EG44DEF65==>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 
GGD5645=<5 «%>E=>7>DE><= F5E=>?>7<G5E><= F5E=<>G<» 

%>>D4M5==>5 =4<<5=>64=<5: ���' «%&&» 

�D74=<74F<>==>-?D46>64O D>D<4: =5>><<5DG5E>4O >D74=<74F<O3
7>EG44DEF65==>5 46F>=><=>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 GGD5645=<5 

&<?: ?D>D5EE<>=4?L=4O >5D47>64F5?L=4O >D74=<74F<O 

�5EF> =4E>645=<O: 169501, $5E?G5?<>4 �><<, 7. %>E=>7>DE>, G?. �GD4F>64, 4. 4, 

&5?./D4>E: (82149) 5-42-16 

�D<F<4?L=O= E4=F: stt-tehnolog.ru 

 �-mail: PU9Buhg@yandex.ru 

'EF46 ���' «%&&», GF65D645= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O 
$5E?G5?<>< �><< >F 26 =>O5DO 2013  7>44 7 671. 

�<F5=7<O =4 >EGM5EF6?5=<5 >5D47>64F5?L=>= 45OF5?L=>EF<: E5D<O 11��1 7 
0000882, 6O44=4 10 >>FO5DO 2014 7>44, ED>> 45=EF6<O - 55EED>G=>. 

%6<45F5?LEF6> > 7>EG44DEF65==>= 4>>D54<F4F<<: E5D<O 11��1 70000141, 
6O44=> 27 O=64DO 2014 7>44, ED>> 45=EF6<O 3 4> 29 4?D5?O 2017 7>44. 

           �D54<5F>< 45OF5?L=>EF<  ���' «%&&»  O6?O5FEO D5L5=<5 7444G 
<=F5??5>FG4?L=>7>, >G?LFGD=>7> < ?D>D5EE<>=4?L=>7> D476<F<O G5?>65>4 < 
<<55F F5?LN ?>47>F>6>G >64?<D<F<D>64==OE D45>G<E, E?G64M<E < 
E?5F<4?<EF>6 ED54=57> 765=4 ?> 6E5< >E=>6=O< =4?D46?5=<O< >5M5EF65==>-
?>?57=>= 45OF5?L=>EF< 6 E>>F65FEF6<< E ?>FD55=>EFO<< >5M5EF64 < 7>EG44DEF64, 
4 F4>65 G4>6?5F6>D5=<5 ?>FD55=>EF5= ?<G=>EF< 6 G7?G5?5=<< < D4EL<D5=<< 
>5D47>64=<O. 

           �E=>6=4O 45OF5?L=>EFL, E6O74==4O E 6O?>?=5=<5< D45>F, >>474=<5< GE?G7 
6 E>>F65FEF6<< E 7>EG44DEF65==O< 7444=<5< �<=<EF5DEF64 >5D47>64=<O 
$5E?G5?<>< �><< < (<?<) >5O74F5?LEF64<< ?5D54 EFD4E>6M<>>< ?> 
>5O74F5?L=><G E>F<4?L=><G EFD4E>64=<N 3 MF> ?D54>EF46?5=<5 ED54=57> 
?D>D5EE<>=4?L=>7> >5D47>64=<O. 

             '?D46?5=<5 GGD5645=<5< >EGM5EF6?O5FEO 6 E>>F65FEF6<< E 
74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<< < $5E?G5?<>< �><<, 'EF46>< < 
EFD><FEO =4 ?D<=F<?4E 54<=>=4G4?<O < E4<>G?D46?5=<O. 
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             �D74=4<< G?D46?5=<O ���' «%&&» O6?ONFEO �45?N44F5?L=O= E>65F 
GGD5645=<O, 4<D5>F>D GGD5645=<O, �5M55 E>5D4=<5 >>??5>F<64 GGD5645=<O, 
�5447>7<G5E><= E>65F, %>65F >5GG4NM<EEO. 

$.�.�. 4<D5>F>D4: 'L4>>64 �D<=4 �4E<?L56=4, F5?. (82149) 5-42-16 
$.�.�. 74<5EF<F5?5=: 

- 74<5EF<F5?L 4<D5>F>D4  ?> GG55=>-?D><76>4EF65==>= D45>F5  

�>6O7<=4 %65F?4=4 �=4F>?L56=4, F5?. (82149) 5-04-53 

- 74<5EF<F5?L 4<D5>F>D4 ?> F5>D5F<G5E>><G >5GG5=<N     

�<EF<=4 %65F?4=4 �D>44L56=4 

- 74<5EF<F5?L 4<D5>F>D4 ?> GG55=>-6>E?<F4F5?L=>= D45>F5   

�4<5=564 �4?5=F<=4 �4E<?L56=4 

- 74<5EF<F5?L 4<D5>F>D4 ?> 44<<=<EFD4F<6=>-E>7O=EF65==>= G4EF<  

�=F>=>64 %65F?4=4 �4E<?L56=4, F5?. (82149) 5-32-60. 
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2. �5D47>64F5?L=4O 45OF5?L=>EFL. 

�>EG44DEF65==>5 ?D>D5EE<>=4?L=>5 >5D47>64F5?L=>5 GGD5645=<5 
«%>E=>7>DE><= F5E=>?>7<G5E><= F5E=<>G<»  6545F ?>47>F>6>G >5GG4NM<EEO 
?> >5D47>64F5?L=O< ?D>7D4<<4< ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O 
?> ?D>7D4<<4< ?>47>F>6>< E?5F<4?<EF>6 ED54=57> 765=4,  4 F4>65 ?> 
?D>7D4<<4< ?>47>F>6>< >64?<D<F<D>64==OE D45>G<E, E?G64M<E  E>7?4E=> 
�5D5G=N ?D>D5EE<= < E?5F<4?L=>EF5= ED54=57> ?D>D5EE<>=4?L=>7> 
>5D47>64=<O, GF65D645==><G ?D<>47><  �<=<EF5DEF64 >5D47>64=<O < =4G>< 
$>EE<=E>>= $545D4F<< >F 29.10.2013 7. 7 1199,  =4 >E=>64=<< $545D4?L=>7> 
74>>=4 $>EE<=E>>= $545D4F<< >F 29.12.20127. 7 273-$� «�5 >5D47>64=<< 6 
$>EE<=E>>= $545D4F<<»», 'EF464 F5E=<>G<4.  

� F5>GM5< GG55=><  7>4G D54?<7GNFEO >5D47>64F5?L=O5 ?D>7D4<<O: 
 

131003.01 �?5D4F>D =5DFO=OE < 747>6OE E>646<= 
190629.01 �4L<=<EF 4>D>6=OE < EFD><F5?L=OE <4L<= 
150709.02 %64DM<> (M?5>FD>E64D>G=O5 < 747>E64D>G=O5 D45>FO) 
260807.01 �>64D, >>=4<F5D 
190631 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F><>5<?L=>7> FD4=E?>DF4 
270802.10 �4EF5D >F45?>G=OE EFD><F5?L=OE D45>F 

 
%>45D64=<5 < >D74=<74F<O GG55=>7> ?D>F5EE4 6 F5E=<>G<5 

D57?4<5=F<DG5FEO D45>G<<< GG55=O<< ??4=4<< < ?D>7D4<<4<<, 
D47D45>F4==O<< 6 E>>F65FEF6<< E FD55>64=<O<< $��% %��, 7D4D<>>< 
GG55=>7> ?D>F5EE4 < D4E?<E4=<5< GG55=OE 74=OF<=, GF65D645==O<< 
4<D5>F>D>< F5E=<>G<4. 

%D>>< >5GG5=<O ?> >5D47>64F5?L=O< ?D>7D4<<4< ?>47>F>6>< 
>64?<D<F<D>64==OE D45>G<E, E?G64M<E  GEF4=>6?5=O 6 E>>F65FEF6<< E 
=>D<4F<6=O<< ED>>4<<, >?D545?O5<O<< $��%, E>EF46?ONF  2 7>44 5 
<5EOF56.  

%D>>< >5GG5=<O ?> >5D47>64F5?L=O< ?D>7D4<<4< ?>47>F>6>< 
E?5F<4?<EF>6 ED54=57> 765=4    GEF4=>6?5=O 6 E>>F65FEF6<< E =>D<4F<6=O<< 
ED>>4<<, >?D545?O5<O<< $��% < E>EF46?ONF  3 7>44 10 <5EOF56 =4 >G=>< 
>F45?5=<<. 
         �4 74>G=>< >F45?5=<< 4?O >5GG4NM<EEO, <<5NM<E ED54=55 >5M55 
>5D47>64=<5, ED>> >5GG5=<O - 37>44 10 <5EOF56; 4?O >5GG4NM<EEO, <<5NM<E 
>E=>6=>5 >5M55 >5D47>64=<5 - 4 7>44 10 <5EOF56. 
           %FDG>FGD4 GG55=OE ??4=>6 ?>?=>EFLN E>>F65FEF6G5F FD55>64=<O<.  
            �D4D<> GG55=>7> ?D>F5EE4 E>EF46?5= 6 E>>F65FEF6<< E FD55>64=<O<< 
$��%, D4E?D545?5=<5 6D5<5=< =4 F5>D5F<G5E>>5 >5GG5=<5, GG55=GN 
?D4>F<>G < ?D><76>4EF65==GN ?D4>F<>G, ?D><56GF>G=GN 4FF5EF4F<N, 
7>EG44DEF65==GN <F>7>6GN 4FF5EF4F<N, >4=<>G?O E>>F65FEF6G5F 
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FD55>64=<O< < >55E?5G<64NF D54?<74F<N ?D46>6OE =>D< ?> >F=>L5=<N > 
>5GG4NM<<EO. 

� D45>G<E GG55=OE ??4=4E ?>?=>EFLN 6O?>?=ONFEO FD55>64=<O >  
?5D5G=N < >5N5<G <7GG5=<O GG55=OE 4<EF<??<=, 4 F4>65 ?D>6545=<O 6E5E 
6<4>6 GG55=>=  < ?D><76>4EF65==>= ?D4>F<><.  

�5N5< ?D4>F<G5E>>= ?>47>F>6>< >5GG4NM<EEO: GG55=4O ?D4>F<>4 < 
?D><76>4EF65==4O ?D4>F<>4, ?45>D4F>D=O5 < ?D4>F<G5E><5 74=OF<O, 
>64?<D<>4F<>==O5 (?D>5=O5) D45>FO E>EF46?O5F 60-70% >F >5M57> GG55=>7> 
6D5<5=<. 

� D45>G<E GG55=OE ??4=4E D54?<7GNFEO E?54GNM<5 5?>>< 4<EF<??<=: 
" �5M5>5D47>64F5?L=4O ?>47>F>6>4(7G<4=<F4D=O= < 5EF5EF65==>-

=4GG=O= F<>?O);  
" �D>D5EE<>=4?L=4O ?>47>F>6>4(>5M5?D>D5EE<>=4?L=O= < 

?D>D5EE<>=4?L=O= F<>?O). 
 
'G55=O= 7>4 E>EF><F  <7 46GE E5<5EFD>6.  $4E?<E4=<5 6 F5G5=<5 7>44 

>>DD5>F<DG5FEO  E>7?4E=> GG55=><G ??4=G 6 E6O7< E 7465DL5=<5< 
?>E?54>64F5?L=> ?D5?>44645<OE ?D>D5EE<>=4?L=OE <>4G?5=.  �4=OF<O 
?D>6>4OFEO 6 >4=G E<5=G,  ?D>4>?6<F5?L=>EFL 74=OF<O  E>EF46?O5F  45 <<=GF, 
GF> E>>F65FEF6G5F =>D<4F<6=O< FD55>64=<O<.   

 �E=>6=O<< D>D<4<< ?D><56GF>G=>= 4FF5EF4F<< >5GG4NM<EEO  
O6?ONFEO: 74G5FO, M>74<5=O. �4G5FO < >>=FD>?L=O5 D45>FO ?D>6>4OFEO 74 
EG5F 6D5<5=<, >F6545==>7> =4 <7GG5=<5 4<EF<??<=O. �?O ?D>6545=<O 
?D><56GF>G=>= 4FF5EF4F<< ?> 4<EF<??<=4< < ?D>D5EE<>=4?L=O< <>4G?O< 
D>D<<DGNFEO >>=FD>?L=>->F5=>G=O5 <4F5D<4?O (���) < >>=FD>?L=>-
>F5=>G=O5 ED54EF64 (��%). �4 FD5FL5< < G5F65DF>< >GDE4E ?D54GE<>FD5=O  
>GDE>6O5 D45>FO, >GDE>6>5  < 4<??><=>5 ?D>5>F<D>64=<5.  

� >5D47>64F5?L=><  ?D>F5EE5 <E?>?L7GNFEO  464 6<44 E4<>EF>OF5?L=>= 
D45>FO >5GG4NM<EEO: 4G4<F>D=4O < 6=54G4<F>D=4O. �5NU<  6D5<5=<, 
>F6545==O= =4 6=54G4<F>D=GN D45>FG, >FD4645FEO  6 D45>G5< GG55=>< ??4=5 
< D45>G<E GG55=OE ?D>7D4<<4E ?D5?>4464F5?5=. 

�D5?>4464F5?O<<  F5E=<>G<4  6545FEO  D45>F4 ?> D54?<74F<< ?D<=F<?4 
>><?5F5=F=>EF=>7> < E<EF5<=>-45OF5?L=>EF=>7> >5GG5=<O.  

�?O >F5=>< >4G5EF64  >5D47>64=<O  ?D>6>4<FEO <>=<F>D<=7  
GE?5645<>EF<  >5GG4NM<EEO, >FE?56<645FEO  4<=4<<>4 D476<F<O 
>5GG4NM<EEO, D<>E<DG5FEO  GD>65=L <E >5GG5==>EF< =4 >464>< MF4?5 
>5GG5=<O. %>7?4E=> 44==OE <>=<F>D<=74 >?D545?ONFEO ?GF< ?>6OL5=<O 
GD>6=O >E6>5=<O ?D>D5EE<>=4?L=OE  < >5M<E >><?5F5=F<= >5GG4NM<<<EO 
F5E=<>G<4.   

�> <F>74< ?D><56GF>G=>= 4FF5EF4F<<  GD>65=L  45E>?NF=>=  
GE?5645<>EF< >5GG4NM<EEO E>EF46<?  93,2 %,  GD>65=L >4G5EF65==>= 
GE?5645<>EF<3 23,3%. 
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        %>7?4E=> GG55=>7> ??4=4 < =4 >E=>64=<< D45>G<E ?D>7D4<< 
>5GG4NM<5EO 6 ?D>F5EE5 >5GG5=<O ?D>E>4OF:  

-  GG55=GN ?D4>F<>G 4?O ?>?GG5=<O ?5D6<G=OE ?D>D5EE<>=4?L=OE 
=46O>>6 6 GG55=>-?D><76>4EF65==OE <4EF5DE><E F5E=<>G<4; 

- ?D><76>4EF65==GN ?D4>F<>G ?> ?D>D5EE<<, E?5F<4?L=>EF< =4 5475 
?D54?D<OF<=, GGD5645=<=, >D74=<74F<=. 

 �E=>6=O<< E>F<4?L=O<< ?4DF=5D4<< F5E=<>G<4 O6?ONFEO ��� 
«&D4=EEFD>=E5D6<E», ��� «%?5F46F>4>D», ��� «$57<>=», ��� 
«�47?D><?5D5D45>F>4», ��� «�'����-�><<», ��� «%>?4<=7-&5=FD», 
��� «$>EE<=E><5 65?57=O5 4>D>7<», %>E=>7>DE><= 747>?5D5D454FO64NM<= 
746>4, ��'� $� %&$�, ��� «%>E=>7>DE> �5EFD4=E», ��� «%64D>G=>-
<>=F46=O= FD5EF», ��� «�<=LN», ��� «.=<E» �� «%>E=>7>DE>4O 
46F>>>?>==4» < 4D., 6 F5E4E >>F>DOE >5GG4NM<5EO ?D>E>4OF 
?D><76>4EF65==GN ?D4>F<>G < 6 44?L=5=L5< >EF4NFEO D45>F4FL. �>7>6>DO E 
?D54?D<OF<O<< ?D54GE<4FD<64NF 674<<=O5 >5O74F5?LEF64, >FD464NF 
<=4<6<4G4?L=O5 FD55>64=<O > GD>6=N ?>47>F>6>< D45>G<E, 674<<>45=EF6<O 
GG55=>7> 746545=<O E ?D54?D<OF<O<< ?> 6>?D>E4< >D74=<74F<< < ?D>6545=<O 
?D><76>4EF65==>= ?D4>F<><, ?>FD55=>EF< 6 >44D4E. $57G?LF4FO 4=4?<74 
>F7O6>6 >F E>F<4?L=OE ?4DF=5D>6 > >4G5EF65 ?>47>F>6>< >5GG4NM<EEO 
?>>474?<, GF> ?>47>F>6>4 D45>G<E >EGM5EF6?O5FEO =4 4>?6=>< GD>6=5. 
�O?GE>=<>< 6?445NF =5>5E>4<<>= ?D>D5EE<>=4?L=>= ?>47>F>6>>=, 
>5?444NF 7=4=<O<< ?D>7D5EE<6=>= F5E=>?>7<< < ?5D54>6O<< ?D<5<4<< 
FDG44.  

      �>47>F>6>4 E?5F<4?<EF>6 ?D>6>4<FEO E GG5F>< ?>FD55=>EF< 
?D54?D<OF<= D57<>=4 6 >44D4E. &5E=<>G< F4>65 GG<FO645F ?D>7=>7O 
?>FD55=>EF< 6 D45>G<E >44D4E F5=FD>6 74=OF>EF< 7.%>E=>7>DE>4 < 
$5E?G5?<>< �><<. �=>7<5 6O?GE>=<>< FDG4>GEFD4<64NFEO =4 ?D54?D<OF<O 
D4=>=4, D5E?G5?<><. 

      � F5E=<>G<5 DG=>F<>=<DG5F &5=FD E>45=EF6<O FDG4>GEFD>=EF6G 
6O?GE>=<>>6. �>EF>O==>  ?D>6>4<FEO <>=<F>D<=7 FDG4>GEFD>=EF64  E F5?LN 
4=4?<74  FDG4>GEFD>=EF64 6O?GE>=<>>6 < >>DD5>F<D>6>< =4?D46?5=<= 
?>47>F>6>< >44D>6, 6>EFD55>64==OE =4 DO=>5 FDG44 7>D>44 %>E=>7>DE>4. 
�5M55 >>?<G5EF6> 6O?GE>=<>>6 6 2014 7>4G E>EF46<?> 89 G5?>65>. 

 

�4==O5 ?> FDG4>GEFD>=EF6G 6O?GE>=<>>6 2014 7>44 6O?GE>4: 

 % >F >5M57> 
>>?<G5EF64 

6O?GE>=<>>6 
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�D>4>?64NF >5GG5=<5 6  >5D47>64F5?L=OE 
GGD5645=<OE 

11 

�D<764=O 6 DO4O �>>DG65==OE E<? $$ 8 

&DG4>GEFD>5=O 59 

�5 >?D545?<?<EL E FDG4>GEFD>=EF6>< 3 

�4E>4OFEO 6 >F?GE>5 ?> GE>4G 74 D555=>>< 8 

 
�<5?<>F5G=O= D>=4 O6?O5FEO 7=4G<<>= G4EFLN <=D>D<4F<>==>-

<5F>4<G5E>>7> >55E?5G5=<O GG55=>= 45OF5?L=>EF< 6 F5E=<>G<5. 
�><??5>F>64=<5 < >D74=<74F<O 5<5?<>F5G=>7> D>=44 >EGM5EF6?O5FEO E 
F5?LN >?5D4F<6=>7> < ?>?=>7> >55E?5G5=<O GG55=>-6>E?<F4F5?L=>7> < 
?D><76>4EF65==>7> ?D>F5EE>6 <744=<O<< < 4DG7<<< 4>>G<5=F4<<.  $>=4 
D>D<<DG5FEO  6 E>>F65FEF6<< E GG55=O<< ??4=4<<, ?D>7D4<<4<< < 
<=D>D<4F<>==O<< 74?D>E4<< G<F4F5?5=.  �<5?<>F5G=O= D>=4 E>EF><F <7 
D47?<G=OE 6<4>6 <744=<=: GG55=>=, =4GG=>=, GG55=>-<5F>4<G5E>>= 
?<F5D4FGDO, 4G4<>6<7G4?L=OE < M?5>FD>==OE 4>>G<5=F>6, ?5D<>4<G5E><E  
<744=<=.   

�=4?<7 D>=44 5<5?<>F5>< ?>>47O645F, GF> E>6D5<5==OE <EF>G=<>>6 
GG55=>= <=D>D<4F<< 4>EF4F>G=> ?> 4<EF<??<=4< 6E5E 5?>>>6 GG55=>7> 
??4=4. 

�5M5>5D47>64F5?L=O5, >5M5F5E=<G5E><5 < ?D>D5EE<>=4?L=O5 
4<EF<??<=O 4>EF4F>G=> >E=4M5=O >E=>6=>= < 4>?>?=<F5?L=>= ?<F5D4FGD>=, 
D>=4 >5=>6?O5FEO ?>EF>O==> 6 F5G5=<5 GG55=>7> 7>44, >EGM5EF6?O5FEO 
?>EF>O==4O ?>4?<E>4 =4 ?5D<>4<G5E><5 6GD=4?O < 7475FO.  

�4 ?>E?54=<5 7>4O ?D4>F<G5E>< >5=>6?5=O GG55=O5 <744=<O ?> 6E5< 
4<EF<??<=4<, ?D<>5D5F5=O ?D>7D4<<=>-<=D>D<4F<>==O5 <EF>G=<>< =4 CD-
4<E>4E, M?5>FD>==O5 GG55=<><. �4 ?>E?54=<= 7>4 ?D<>5D5F5=>  287 
M>75<??OD>6 GG55=<>>6, 6 >E=>6=>< G5D57 E<EF5<G 74>47>6 6 <744F5?LEF65 �& 
«�>445<<O», >>F>D>5 E?5F<4?<7<DG5FEO =4 <744=<< GG55=>= ?<F5D4FGDO. 
'G55=O= 5<5?<>F5G=O= D>=4 E>EF46?O5F 3785 M>75<??OD>6. 

� 744=<< F5E=<>G<4 <<55FEO 55E?D>6>4=>= <=F5D=5F, GF> ?>76>?O5F 
>5GG4NM<<EO < ?D5?>4464F5?O< ?>?L7>64FLEO �=F5D=5F3D5EGDE4<< 6 
G4>5=>5 4?O =<E 6D5<O. 

� E6O7< E >E6>5=<5<  $��%, ?D<<5=5=<5< =>6OE F5E=>?>7<=, 
G65?<G5=<5< G4E>6 4?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO,  
?D5?>4464F5?O<< D47D454FO64NFEO <5F>4<G5E><5 ?>E>5<O < M?5>FD>==O5 
65DE<< =5>5E>4<<OE 4?O >5GG5=<O =>6OE GG55=<>>6 < ?>E>5<=: 

1. -?5>FD>F5E=<>4 < M?5>FD>=<>4. �5F>4<G5E>>5 ?>E>5<5 ?> 
M?5>FD>F5E=<>5 < M?5>FD>=<>5. �45F &.�. , ?D5?>4464F5?L D<7<>< < 
M?5>FD>F5E=<><, 20127. 
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2. %<<<O. �5F>4<G5E>>5 ?>E>5<5. '<?E4=>64 �.�., ?D5?>4464F5?L  
5EF5EF65==>-=4GG=>7> F<>?4, 20127. 

3. �4F5<4F<>4. �5F>4<G5E>>5 ?>E>5<5. �=4D<O=>64 �.�., 20127. 
?D5?>4464F5?L  <4F5<4F<><, 2012 7. 

4. �=D>D<4F<>4 < ��&. �5F>4<G5E>>5 ?>E>5<5. %5?<64=>64 �.�., 
20127. 

5. -?5>FD>==>5 ?>E>5<5 ?> 4<EF<??<=5 «�5FD>?>7<O, 
EF4=44DF<74F<O < E5DF<D<>4F<O». &<F>64 �.%. , 20127.  

6. -?5>FD>==>5 ?>E>5<5  ?> 4<EF<??<=5 «�=D>D<4F<>4». 
%5?<64=>64 �.�., 20127. 

7.    �EF>D<O.  �5F>4<G5E>>5 ?>E>5<5 4?O 6O?>?=5=<O 7444=<= ?> 
<EF>D<<. �<EF<=4 %.�., ?D5?>4464F5?L 7G<4=<F4D=>7> F<>?4,20127. 

8.     �4F5D<4?O 4?O >D74=<74F<< E4<>EF>OF5?L=>= D45>FO  ?> ?D54<5FG 
«'EFD>=EF6> 46F><>5<?O». 'G55=>5 ?>E>5<5. �DF556 �.�., 20117. 

9.   �G?LF<<54<==O5  ?D575=F4F<<  ?> >E=>6=O< D4745?4<  < F5<4< 
4<EF<??<=O «'EFD>=EF6> 46F><>5<?O», «&5E=<G5E>>5 >5E?G6<64=<5 < 
D5<>=F 46F><>5<?L=>7> FD4=E?>DF4». 

10.      ��.01 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F>FD4=E?>DF4 
���.01.01 'EFD>=EF6> 46F><>5<?O �5F>4<G5E><5 G>474=<O 4?O 
6O?>?=5=<O 7444=<= �DF556 �.�., &<F>64 �.%. 20147. 

11.     ��.01 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F>FD4=E?>DF4 
���.01.01 'EFD>=EF6> 46F><>5<?O �5F>4<G5E><5 G>474=<O 4?O 
6O?>?=5=<O 7444=<= �DF556 �.�., &<F>64 �.%. 20147. 

12.     ��.01 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F>FD4=E?>DF4 
���.01.02 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F><>5<?L=>7> 
FD4=E?>DF4. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 7444=<= �DF556 
�.�., &<F>64 �.%. 20147. 

13.    ��%-.03 �5<5F><= O7O>. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 
7444=<=. �>F5?L64 �.�. 20147. 

14.    ��%-.03 �=7?<=E><= O7O>. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 
7444=<=. �>F5?L64 �.�. 20147. 

15.   ��.04 �4F5D<4?>6545=<5. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 
7444=<=. &<F>64 �.%. 20147. 

16.   ��.01 �4F5<4F<>4. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 7444=<= 
%5?<64=>64 �.�. 20147. 

17.    ��.01 �=65=5D=4O 7D4D<>4. �5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O 
7444=<=. &<F>64 �.%., �44<>6 %.�. 20147. 

18.    ��.03 -?5>FD>F5E=<>4 < M?5>FD>=<>4. �5F>4<G5E><5 G>474=<O 4?O 
6O?>?=5=<O 7444=<=.  �45F &.�. 20147. 

19.   ��.05 �5FD>?>7<O, EF4=44DF<74F<O < E5DF<D<>4F<O �5F>4<G5E><5 
G>474=<O 4?O 6O?>?=5=<O 7444=<=.  &<F>64 �.%. 20147. 

20.    ��.08 �ED4=4 FDG44 6 F45?<F4E < EE5<4E 4?O ?>47>F>6>< EFG45=F>6 > 
?D><56GF>G=>= 4FF5EF4F<<. �5F>4<G5E>>5 ?>E>5<5. &<F>64 �.%. 20147   
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21.   ��.05 �5FD>?>7<O, EF4=44DF<74F<O  < E5DF<D<>4F<O. �5F>4<G5E>>5 
?>E>5<5 4?O ?>47>F>6>< EFG45=F>6 > ?D><56GF>G=>= 4FF5EF4F<<.  
&<F>64 �.%. 20147. 

22.   �D74=<74F<O  6O?>?=5=<O, <5F>4<>4 D4EG5F>6 < MF4?O 74M<FO 
>GDE>6>7> ?D>5>F4. �5F>4<G5E><5 G>474=<O. &<F>64 �.%. 20147. 

23. ��%-.02 �EF>D<O. 'G55=>-<5F>4<G5E>>5 ?>E>5<5 4?O ?>47>F>6>< 
EFG45=F>6 > ?D><56GF>G=>= 4FF5EF4F<<. �<EF<=4 %.�.20147. 

24. �D74=<74F<O  6O?>?=5=<O < 74M<FO ?<EL<5==>= 
M>74<5=4F<>==>= D45>FO ?> ?D>D5EE<< 19.01.17 �>64D, >>=4<F5D. 
'G55=>-<5F>4<G5E>>5 ?>E>5<5. �<??5D �.�., 'G?D4>>64 �.�. 20147.  
 
�5D47>64F5?L=O= ?D>F5EE >EGM5EF6?ONF  27 ?D5?>4464F5?5= < 

<4EF5D>6 ?D><76>4EF65==>7> >5GG5=<O.  %D54< =<E 4 G5?>65>4 <<5NF 764=<5 
«�F?<G=<> ?D>D5EE<>=4?L=>7> F5E=<G5E>>7> >5D47>64=<O $%$%$», 4 
G5?>65>4 3 «�>G5F=O= D45>F=<> =4G4?L=>7> ?D>D5EE<>=4?L=>7> >5D47>64=<O 
$>EE<=E>>= $545D4F<<», =47D4645=O �>G5F=>= 7D4<>F>= �� < =4G>< $$ 3 4 
G5?. 30%  ?5447>7<G5E>>7> >>??5>F<64 <<5NF 6OELGN < ?5D6GN 
>64?<D<>4F<>==O5  >4F57>D<<.  
          �47>6>5 >5D47>64=<5 ?D5?>4464F5?5= E>>F65FEF6G5F ?D5?>44645<O< 
4<EF<??<=4<. 19 G5?>65>   <<5NF 6OEL55 >5D47>64=<5, 8 G5?>65>  ED54=55  
?D>D5EE<>=4?L=>5 >5D47>64=<5.  
          �5447>7<G5E><= EF46  4> 5 ?5F <<5NF L5EFL ?D5?>4464F5?5=;   4> 10 ?5F 
3 45EOFL  ?D5?>4464F5?5=, 5>?55 10 ?5F 3 >4<==44F4FL  ?D5?>4464F5?5=.            
�=4?<7 >44D>6>7> ?>F5=F<4?4 >5D47>64F5?L=>7> GGD5645=<O G>47O645F =4 
EF45<?L=>EFL < ?D>D5EE<>=4?L=O= GD>65=L ?D5?>4464F5?5=. %D54=<= 6>7D4EF 
?5447>7<G5E><E D45>F=<>>6  46,8 ?5F. 

% F5?LN ?>6OL5=<O ?5447>7<G5E>>7> < <5F>4<G5E>>7> <4EF5DEF64 
?D5?>4464F5?LE>>7> E>EF464 F5E=<>G<4  E>EF46?O5FEO   ?5DE?5>F<6=O= ??4= 
?>6OL5=<O >64?<D<>4F<<, E>7?4E=> >>F>D><G ?5447>7<G5E><5 D45>F=<>< 
?D>E>4OF >5GG5=<5 =4 >GDE4E ?>6OL5=<O >64?<D<>4F<< D47?<G=>7> GD>6=O 
>4<= D47 6 3 7>44. �4 >FG5F=O=  ?5D<>4 ?D>D5EE<>=4?L=GN  ?>47>F>6>G 
?D>L?< 88,8% ?5447>7<G5E><E D45>F=<>>6 ?> F5<4<: «%>6D5<5==O5 
<=D>D<4F<>==O5 < >><<G=<>4F<>==O5 F5E=>?>7<< 6 >D74=<74F<< 
>5D47>64F5?L=>7> ?D>F5EE4», «�>DFD>?<>, >4> ED54EF6> >F5=><  
?D>D5EE<>=4?L=OE >><?5F5=F<= GG<F5?O»,  «�>EG44DEF65==>5 D57G?<D>64=<5  
< MDD5>F<6=O5 F5E=>?>7<<  >5D47>64F5?L=>= 45OF5?L=>EF< 6 $>EE<=E>>= 
$545D4F<< 6 >5?4EF< ?D>D5EE<>=4?L=>7> >5D47>64=<O»,  «%>?D>6>645=<5 
$��% =>6>7> ?>>>?5=<O», «�GE>6=> 3 =D46EF65==>5 6>E?<F4=<5 6 >GDE5 
�$�%-» , «�E>55==>EF< ?5447>7<G5E>>= 45OF5?L=>EF<  6 ?D>D5EE<>=4?L=OE 
>5D47>64F5?L=OE >D74=<74F<OE %��».  
          $54?<74F<O 7444G <5F>4<G5E>>= D45>FO E?>E>5EF6G5F 
E>65DL5=EF6>64=<N >4G5EF64 >5GG5=<O < <>45D=<74F<< ?5447>7<G5E>>= 
E<EF5<O F5E=<>G<4. �>6OL5=<5 ?D>D5EE<>=4?L=>7> GD>6=O ?5447>7<G5E><E 
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D45>F=<>>6 >EGM5EF6?O5FEO 6 D4<>4E D45>FO  F<>?>6OE <5F>4<G5E><E 
>><<EE<=, =4 >>F>DOE D4EE<4FD<64NFEO 6>?D>EO     >D74=<74F<< D45>FO ?> 
=>6O< GG55=>-<5F>4<G5E><< >><??5>F4<,   <=D>D<4F<74F<< >5D47>64=<O, 
E<EF5<5 ?>445D6>< >5GG4NM<EEO, ?>6OL5=<N >64?<D<>4F<< 
?5447>7<G5E><E D45>F=<>>6. -F> =4L?> >FD465=<5 6 ?D>6>4<<OE >F>DOFOE 
GD>>4E  ?> E<<<<, D<7<>5, <4F5<4F<>5, <=D>D<4F<>5 < >>=>GDE4E «�GGL<= 
?> ?D>D5EE<<».  

�5447>7< F5E=<>G<4 < >5GG4NM<5EO ?D<=<<4NF 4>F<6=>5  GG4EF<5 6> 
�E5D>EE<=E><E >>=>GDE4E, >?<<?<444E, D5E?G5?<>4=E><E >>=>GDE4E: 

-  �E5D>EE<=E><= ?5447>7<G5E><= >>=>GDE «�>6O5 <45<» (�>445<<O 
?5447>7<><, =><<=4F<O «$47D45>F>4 6=5>?4EE=>7> <5D>?D<OF<O» ) �45F &.�., 
?D5?>4464F5?L D<7<><; 

-  �5M5D>EE<=E><= >>=>GDE «�5447>7<G5E>>5 <4EF5DEF6>» -  �<??>< ��� 
EF5?5=< 6 =><<=4F<< «�5F>4<G5E>4O D47D45>F>4 GD>>4 D<7<><» » - �45F &.�., 
?D5?>4464F5?L D<7<><; 

- �E5D>EE<=E><=  >F>DOFO= <EE?54>64F5?LE><= >>=>GDE «$>EE<O 
?D46>E?46=4O. &D44<F<< < E>6D5<5==>EFL» ,  4<??>< ��� EF5?5=< - 
�5?L=<>>64 �./, <4EF5D ?D><76>4EF65==>7> >5GG5=<O; 

-  $5E?G5?<>4=E><= >>=>GDE  <EE?54>64F5?LE><E D45>F  $� «&5=FD 
«�4E?54<5» <<5=<  �<F<D<<4 %>D>><=4  =4 F5<G «�<F<D<< %>D>><= > 
$>EE<< < �><< >D45» -  �>D>5L564 �., 7DG??4 7205 (DG>>6>4<F5?L 'G5>> 
�.�); 

-  $5E?G5?<>4=E><= >>=>GDE  <EE?54>64F5?LE><E D45>F  $� «&5=FD 
«�4E?54<5» <<5=<  �<F<D<<4 %>D>><=4  =4 F5<G «�<F<D<< %>D>><= > 
$>EE<< < �><< >D45» -  �DFNE �., 7DG??4 7107 (DG>>6>4<F5?L �<EF<=4  
%.�.); 

 -  $5E?G5?<>4=E>4O  =4GG=>-?D4>F<G5E>4O >>=D5D5=F<O  «�>?>4O5 
<EE?54>64F5?< 3 $5E?G5?<>5 �><<» - %>7O<=>6 �., 7DG??4 7207 
(DG>>6>4<F5?L �<EF<=4 %.�.) 

- $5E?G5?<>4=E>4O >?<<?<444 ?> E<<<<  4?O EFG45=F>6 
?D>D5EE<>=4?L=OE >5D47>64F5?L=OE >D74=<74F<= %�� 3 �4L<FO=4 �., 
�GD><= �., 7DG??4 7101 3 4 <5EF> (?D5?>4464F5?L '<?E4=>64 �.�.) 

-    �E5D>EE<=E><= 4<EF4=F<>==O= >>=>GDE  E <564G=4D>4=O< 
GG4EF<5< «&5=FD4 E>6D5<5==OE >5D47>64F5?L=OE F5E=>?>7<=» 6 =><<=4F<< 
«�GGL4O ?D575=F4F<O > GD>>G» - �D<M5=>> �., 7DG??4 7107 - 4<??>< �� 
EF5?5=< (?D5?>4464F5?L �45F &.�.) 

-  �564G=4D>4=O= ?D>5>F «Videouroki net», 4<EF4=F<>==4O 
>?<<?<444  ?> <4F5<4F<>5 3 �D46=<>>6 �., 7DG??4 7207 4<??>< ��� EF5?5=<, 
(?D5?>4464F5?L %5?<64=>64 �.�.); 

-    �564G=4D>4=O= ?D>5>F «Videouroki net», 4<EF4=F<>==4O 
>?<<?<444  ?> <=D>D<4F<>5 3 �4=56 �. 7DG??4 7103 - 4<??><>< ��� EF5?5=<, 
,>4D54=E><= �., 7DG??4 7207 - 4<??>< ��� EF5?5=<, (?D5?>4464F5?L 
%5?<64=>64 �.�.); 
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-            $5E?G5?<>4=E><= >>=>GDE ?D>D5EE<>=4?L=>7> <4EF5DEF64 
>5GG4NM<EEO ?D>D5EE<>=4?L=OE >5D47>64F5?L=OE >D74=<74F<= ?> 
?D>D5EE<< «�>64D, >>=4<F5D» - �4D>>64 �., 7DG??4 7205 3 5 <5EF>, 
(?D5?>4464F5?L 'G?D4>>64 �.�., <4EF5D ?D><76>4EF65==>7> >5GG5=<O 
�4D<=>64 �.�.); 

-  $5E?G5?<>4=E><= >>=>GDE <4EF5D>6 ?D><76>4EF65==>7> >5GG5=<O 
?D>D5EE<>=4?L=OE >5D47>64F5?L=OE >D74=<74F<= «�4EF5D 7>44 3 2014» - 
,>=GE �.�.- E5DF<D<>4F GG4EF=<>4; 

-  $5E?G5?<>4=E><= D5EF<64?L(E<>FD->>=>GDE) GG55=>-?D<>?44=>7> 
F6>DG5EF64 EFG45=F>6 ?D>D5EE<>=4?L=OE >5D47>64F5?L=OE >D74=<74F<= 3 
,GL>> �., 7DG??4 7307  3 4<??>< 6 =><<=4F<< «�GGL<= 
?D4>F<>>>D<5=F<D>64==O= ?D>5>F»(=4GG=O5 DG>>6>4<F5?< 3 �DF556 �.�., 
?D5?>4464F5?L < �>ENF4 �.%., <4EF5D ?D><76>4EF65==>7> >5GG5=<O); 

- $5E?G5?<>4=E><= >>=>GDE ED54< F5=FD>6 E>45=EF6<N 
FDG4>GEFD>=EF6G 6O?GE>=<>>6 ?D< ?D>D5EE<>=4?L=OE >5D47>64F5?L=OE 
>D74=<74F<OE < >5D47>64F5?L=OE >D74=<74F<OE 6OEL57> >5D47>64=<O 
«�GGL<5 F5E=>?>7<< FDG4>GEFD>=EF64 D45>FO F5=FD>6 ?> E>45=EF6<N 6 
FDG4>GEFD>=EF65 6O?GE>=<>>6 <7 G<E?4 ?<F E >7D4=<G5==O<< 
6>7<>6=>EFO<< 74>D>6LO» - E5DF<D<>4F GG4EF=<>4, 7 <5EF>(DG>>6>4<F5?L 
?D>5>F4 - �>6O7<=4 %.�.) 
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3. �=5GG55=4O 45OF5?L=>EFL 

            �>E?<F4F5?L=4O  E<EF5<4 F5E=<>G<4  >E=>64=4 =4   E>744=<< GE?>6<=   
?> D476<F<N E>F<4?L=> 4>F<6=>=, 4GE>6=> =4?>?=5==>=, =D46EF65==>=, 
>5D47>64==>= ?<G=>EF<,  D>D<<D>64=<N  ?D>D5EE<>=4?L=OE < ?<G=>EF=OE  
>><?5F5=F<=, ?D<>5M5=<N  >  >5M5G5?>65G5E><< 4GE>6=O<  <  >G?LFGD=O<  
F5==>EFO<. 

          &5?LN 6>E?<F4F5?L=>= D45>FO  6 2014  7>4G O6?O?>EL   D>D<<D>64=<5 
4GE>6=> - =D46EF65==OE >D<5=F<D>6, >55E?5G5=<5 <=4<6<4G4?L=>7> D476<F<O 
>464>7> >5GG4NM57>EO.   

         � E>45 >EGM5EF6?5=<O 6>E?<F4F5?L=>= 45OF5?L=>EF< D5L4?<EL  
E?54GNM<5 7444G<: 

- D>D<<D>64=<5 >?F<<4?L=>= E>F<4?L=>3 ?5447>7<G5E>>= < ?E<E>?>7<G5E>>= 
ED54O, E?>E>5EF6GNM5= 4>F<6=>= 45OF5?L=>EF< >5GG4NM<EEO; 

- D>D<<D>64=<5 4>F<6=>= 7D4644=E>>=  < ?4FD<>F<G5E>>= ?>7<F<<; 

- D476<F<5 ?>FD55=>EF<  > E4<>D54?<74F<< ?>F5=F<4?4, 74?>65==>7> 6 
?<G=>EF<; 

- ?D<6<F<5 E>7=4F5?L=>7> >F=>L5=<O > FDG4G; 

- D>D<<D>64=<5 ?>FD55=>EF5= 6 74>D>6>< >5D475 6<7=<. 

        $54?<74F<< ?>EF46?5==OE F5?5= < 7444G E?>E>5EF6>64?4   E<EF5<4  
6>E?<F4F5?L=>= D45>FO, >>F>D4O  >E64FO64?4  E?54GNM<5 =4?D46?5=<O: 
7D4644=E>>5, 4GE>6=>-=D46EF65==>5, ?4FD<>F<G5E>>5,  ?D46>6>5, 
?D>D<?4>F<G5E>>5, E5<5==>5, M>>?>7<G5E>>5, ?D>D>D<5=F4F<>==>5, 
«>5M5=<5», « E?>DF<6=> - >74>D>6<F5?L=>5», «6=5GD>G=GN 45OF5?L=>EFL», 
E>F<4?L=GN  D45>FG ?> 74M<F5 ?D46 < <=F5D5E>6 45F5= 3 E<D>F  < 45F5=, 
>EF46L<EEO 557 ?>?5G5=<O D>4<F5?5=, D476<F<5 E4<>G?D46?5=<O, D45>F4 E 
D>4<F5?O<<, D45>F4  5<5?<>F5><,  D45>F4 E  >5GG4NM<<<EO, ?D>6<64NM<<< 6 
>5M56<F<<. 

        � ??4=O  6>E?<F4F5?L=>= D45>FO  6>?NG4?<EL   <5D>?D<OF<O, 
=4?D46?5==O5 =4 D54?<74F<N 6>E?<F4F5?L=OE  >><?>=5=F>6 6 E>>F65FEF6<< E 
$��%: 

1. �=4>><EF6> E >G?LFGD>= E5<5==OE >F=>L5=<=. 
2. �D<>5M5=<5 > DGEE>>= < >><< =4F<>=4?L=>= >G?LFGD5. 
3. �D74=<74F<O 74>D>6>7> >5D474 6<7=<. 
4. �G?LFGD4 >F=>L5=<= <564G ?>?4<< (?>?>6>5 6>E?<F4=<5). 
5. �G?LFGD4 ?>6545=<O, >G?LFGD4 FDG44 (FDG4>6>5, =D46EF65==>5 6>E?<F4=<5). 
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6. $>D<<D>64=<5 =4G4? M>>=><<G5E>>=  >G?LFGDO (MDD5>F<6=>5 ?>6545=<5 
=4 DO=>5 FDG44). 
7. �>E?<F4=<5 MEF5F<G5E>>7> < ?E<E>?>7<G5E>>7> 6<45=<O 6<7=< G5?>65>4. 
8. �<7=5==>5 E4<>>?D545?5=<5,  E4<>D54?<74F<O ?<G=>EF<, ?>4D>EF>4 
(«�>7=4= E4<>7> E55O»). 
9. �D>D<?4>F<>4 6D54=OE ?D<6OG5>, >>=D?<>F>6 E 74>>=><. 
�>DL54 E «5>?57=O<< 65>4». 
10. �D<764=<5, ?D>D5EE<O, F5==>EF< 6 6<7=<. �<7=5==O= >?OF G5?>65>4 
(?D>D>D<5=F4F<O). 
11. �>47>F>6>4 > E?G655 6 4D<<<. 
12.$45>F4 E E>F<G<><. 
         �?4=<DG5<4O 6>E?<F4F5?L=4O 45OF5?L=>EFL   >D<5=F<D>64=4 =4 
?>FD55=>EF<  < <=F5D5EO >5GG4NM<EEO, <<5?4  E6O7L E 6<7=LN >5M5EF64, 
>E=>6=O<< E>5OF<O<< EFD4=O, D5E?G5?<><, 7>D>44. 

      �>E?<F4F5?L=4O 45OF5?L=>EFL  F5E=<>G<4 D57?4<5=F<D>64?4EL 
E?54GNM<<< �>?>65=<O<<: 

- «� EF<?5=4<4?L=>< >55E?5G5=<< < <=OE  D>D<4E  <4F5D<4?L=>= ?>445D6><  
>5GG4NM<EEO ���' «%&&»; 

- «� E>65F5 D>4<F5?5=»; 

- «� 5<5?<>F5>5»; 

- «�5 >5M56<F<<»; 

- «� E>65F5 ?D>D<?4>F<><»; 

- «� E>65F5 >5M56<F<O»; 

- «� <G755»; 

-«� E>65F5  >5GG4NM<EEO»; 

- < 4D. 

      �5>FN5<?5<>=   G4EFLN  6>E?<F4F5?L=>= 45OF5?L=>EF<  O6?O?4EL 
E>F<4?L=4O  74M<F4  ?D46 < <=F5D5E>6  45F5= 3 E<D>F  < 45F5=, >EF46L<EEO 557 
?>?5G5=<O D>4<F5?5=,  ?>445D6>4 45F5= <7 <4?><<GM<E  < =55?47>?>?GG=OE  
E5<5=. 

      �4=<< <7 =4?D46?5=<=  6>E?<F4F5?L=>=  45OF5?L=>EF<  5O?4 D45>F4  E 
>5GG4NM<<<EO, ?D>6<64NM<<< 6 >5M56<F<<. 

     �4?<G<5 < MDD5>F<6=>EFL <E?>?L7>64=<O <4F5D<4?L=>-F5E=<G5E>>= 547O 
4?O 6=5GG55=>= D45>FO E >5GG4NM<<<EO. �?O >D74=<74F<< 6=5GG55=>= 
45OF5?L=>EF<   <E?>?L7>64?4EL   <4F5D<4?L=>-F5E=<G5E>4O  5474 F5E=<>G<4: 
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- 2 E?>DF<6=OE 74?4,  E?>DF<6=4O  >><=4F4 6 >5M56<F<<; 

- 4>F>6O= 74?; 

- �G75= 5>56>= E?46O <<. ,><5E>64 �.�.; 

- F<D; 

-E?>DF<6=O= <=65=F4DL: E<?>6>= FD5=465D=O= >><??5>E - 2 LF., 
65?>FD5=465D 3 1 LF., M?5>FD><5E4=<G5E>4O 557>64O 4>D>6>4 3 1 LF., 
F5==<E=O5 EF>?O 3 4 LF., EF>=>< 4?O ?DO6>>6 6 6OE>FG 3 2 LF., <4FO 
7<<=4EF<G5E><5 - 10 LF., >>75? 7<<=4EF<G5E><= 3 1 LF., >>=L 7<<=4EF<G5E><= 
3 1 LF., 7<D< 4F?5F<G5E><5 D47=>7> 65E4 - 10 LF., <OG< DGF5>?L=O5 3 7 LF., 
54E>5F5>?L=O5 <OG<- 7 LF., 6>?5=5>?L=O5 <OG<- 7 LF, ?5DG4F>< 5>>EUDE><5 3 
1 ?4D4., ?5DG4F>< 6D4F4DE><5 -  2 ?4DO; 

- >><=4F4 E4<>?>47>F>6>< 6 >5M56<F<<;  

- 5<5?<>F5>4 ( =4 5475 5<5?<>F5>< ?D>E>4<?<  F5<4F<G5E><5 6OEF46><, 
6EFD5G<,  5<5?<>F5G=O5 GD>><, >57>DO ?5D<>4<G5E>>= < <>?>4U6=>= ?5G4F<,  
6 G<F4?L=>< 74?5 6> 6=5GD>G=>5 6D5<O >5GG4NM<5EO G<F4?<  F5E=<G5E><5 < 
<>?>456=O5 6GD=4?O < 7475FO; 7>F>6<?<EL  > GG4EF<N 6 >?4EE=OE G4E4E, 
4<E?GF4E < F.4); 

- >><=4F4 >F4OE4 6 >5M56<F<< 4?O ?D>6545=<O G45?<F<= < ?D474=<G=OE 
<5D>?D<OF<=;  

- F5?56<7<>==4O >><=4F4 6 >5M56<F<< 4?O ?D>E<>FD4 6<45>D<?L<>6 < 
F5?5?5D544G;  

- 4G4<>, - 6<45> 4??4D4FGD4, 4?O ?>47>F>6>< < ?D>6545=<O F6>DG5E><E, 
4>EG7>6OE <5D>?D<OF<= 6 F5E=<>G<5 6 F5?><  < 6 7DG??4E;  

- <G?LF<<54<==O= ?D>5>F>D 4?O ?D>E<>FD4 F5<4F<G5E><E 6<45>D<?L<>6 
?D>D<?4>F<G5E>>= =4?D46?5==>EF<, E>744=<O E?4=4-L>G 4?O ?D575=F4F<= < 
?D>6545=<O ?D>D>D<5=F4F<>==>= D45>FO; 

- GG55=O5 >45<=5FO. 

        �=5GG55=O5   <5D>?D<OF<O  5O?< D47=>>5D47=O ?> D>D<5 < E>45D64=<N: 
�5=L �=4=<=,  �5=L 'G<F5?O,  �5=L �4F5D<,  «�=< E?>DF4 < 74>D>6LO» 
(557G=4, <5F4F5?O, ?DO7G=4), <5EOG=<>< (?5E4, 6>5==> 3 ?4FD<>F<G5E>>7> 
6>E?<F4=<O), 4>F<< (4=F<=4D>>F<G5E><5, «�=F<4>74», «�>44D< 45FO< 
D44>EFL»,  «$5G=4O ?5=F4», «�45>F4»), >>=F5DF=O5 < <7D>6O5  ?D>7D4<<O, 
<5D>?D<OF<O, ?>E6OMU==O5 ?4<OF< D5?D5EE<D>64==OE, 6EFD5G< E 6><=4<< 3 
<=F5D=4F<>=4?<EF4<<, 65F5D4=4<< �.�.�., GG4EF<5 6 7>D>4E>><  ���, 
?>E6OMU==>< N5<?5N %>E=>7>DE>>7> D4=>=4, «�5=L ?D<7O6=<>4», GG4EF<5 6 
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>D>EE4E, ?O6=OE E>D56=>64=<OE, «�5EU?O5 EF4DFO», 6>5==> 3 E?>DF<6=4O 
MEF4D5F4 «�>?>E4 ?D5?OFEF6<=», �4EF4 �4<OF<, «�545?O 4>5DOE 45?», 
M>E>GDE<< 6 �����, ����, 6>?>=FUDE>>5 46<65=<5, 6OEF46>< 
EG4>65EF65==>7> F6>DG5EF64  < 4D. 

          � E?>DF<6=OE 74?4E  6> 6=5GD>G=>5 6D5<O 65?4EL  E?>DF<6=>-
>74>D>6<F5?L=4O D45>F4: E?>DF<6=O5 E>D56=>64=<O ?> D47?<G=O< 6<44< 
E?>DF4,  ?D474=<G=O5 6>5==>-E?>DF<6=O5  MEF4D5FO  < >>=>GDEO, 
>5M5F5E=<>G<>6E>4O  E?4DF4><444 ?> D47?<G=O< 6<44< E?>DF4,  D45>F4?<  
E?>DF<6=O5 E5>F<<: �$�, DGF5>?, F5==<E, 6>?5=5>?, 54E>5F5>?; >DG6>< ?> 
<=F5D5E4<, >5N54<=5=<O, ?D>6>4<?4EL <EE?54>64F5?LE>4O  D45>F4,  
>5GG4NM<5EO ?D<=<<4?<  GG4EF<5 6 7>D>4E><E < D5E?G5?<>4=E><E  
>>=>GDE4E, >>=D5D5=F<OE. 

          �>E?<F4F5?L=4O  D45>F4  ?D>6>4<?4EL E>6<5EF=>  E   
?D46>>ED4=<F5?L=O<<  >D74=4<<, >D74=4<<  E>F<4?L=>= 74M<FO =4E5?5=<O,   
&�� 7. %>E=>7>DE>4, E &����, &5=FD>< �><< �G?LFGDO, <56?>E5?5=G5E><< 
F5=FD>< >G?LFGDO,  %>E=>7>DE><< >F45?5=<5< E>N74  65F5D4=>6 
�D74=<EF4=4,  >5M5EF6>< «�5<>D<4?», %>65F>< 65F5D4=>6, E 5<5?<>F5>>= 
<<. /.$>G564 < 4D. 

        �>EF>O==>5 6=<<4=<5 G45?O?>EL D45>F5  ?D>F<6>45=EF6<N 45OF5?L=>EF< 
=5D>D<4?L=OE <>?>4U6=OE >5N54<=5=<=, D4E?D>EFD4=5=<N M>EFD5<<EFE><E 
=4EFD>5=<= 6 <>?>4U6=>= ED545, D>D<<D>64=<N F>?5D4=F=>EF<; 
?D>D>D<5=F4F<>==>=  D45>F5 E> L>>?L=<>4<< < >5GG4NM<<<EO F5E=<>G<4: 
«/D<4D>4  GG55=OE <5EF», «/D<4D>4 D45>G<E <5EF «�4DL5D4 - 2014», 
M>E>GDE<< ?> F5E=<>G<G  < =4  ?D54?D<OF<O, 4D. 

          �4=<< <7  646=OE  =4?D46?5=<=  6 D45>F5  O6?O?4EL   ?D>D<?4>F<G5E>4O 
D45>F4 ?> ?D54G?D5645=<N ?D46>=4DGL5=<=  < ?D5EFG??5=<=, ?> 
G>D5??5=<N 4<EF<??<=O, 5D>4O6=<G5EF64, 557=447>D=>EF<, G>?>=5=<O >F 
GGU5O, ?D>D<?4>F<>4  EG<F<44?L=>7> ?>6545=<O. � =4G4?5  GG55=>7> 7>44  
5O? E45?4=  4=4?<7  >>=F<=75=F4,  5O?< 6OO6?5=O     >5GG4NM<5EO < E5<L<, 
=4E>4OM<5EO  6 E>F<4?L=> >?4E=>< ?>?>65=<<, ?>EF46?5=O =4 
6=GFD<F5E=<>G<>6E><=   ?D>D<?4>F<G5E><= GGUF. 
       �D>D<?4>F<G5E>4O  D45>F4   ?D>6>4<?4EL  ?>  =4?D46?5=<O<: 
1. %>6<5EF=4O D45>F4 E ?D46>>ED4=<F5?L=O<< >D74=4<< (GG4EF>>6O5, 
<=E?5>F>D4 ���� ���� 7.%>E=>7>DE>4, 'EFO,  ��� 7.%>E=>7>DE>4, 
?D>>GD4FGD4, %?54EF65==O=  >><<F5F, G7>?>6=O=  D>7OE>, '$%��). 
2.%>F<4?L=>-?E<E>?>7<G5E>4O D45>F4 3 7=4>><EF6> E E5<L5=, E>F<4?L=>= 
ED54>= FDG4=OE ?>4D>EF>>6, 6OO6?5=<5 <E ?D<6OG5> < =4>?>==>EF5=; 
?D>6545=<5 <=4<6<4G4?L=>->>=EG?LF4F<>==>= D45>FO,  >>474=<5  
?5447>7<G5E>>= < ?E<E>?>7<G5E>>=  ?><>M<, <54<F<=E>>= ?><>M< ?D< 
GD576OG4==OE E<FG4F<OE; <4F5D<4?L=>=   ?><>M<.   
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3.�>EG7>64O 45OF5?L=>EFL 3 6>6?5G5=<5 «FDG4=OE» ?>4D>EF>>6 6 >DG6><, 
E?>DF<6=O5 E5>F<<; ?D>E<>FD F5<4F<G5E><E 6<45>D<?L<>6 > 6D545 
=4D>><4=<<, F>>E<>><4=<<, 4?>>7>?O, >GD5=<O, >D74=<74F<O FDG4>6>= 
45OF5?L=>EF< 6> 6D5<O ?5F=<E >4=<>G? < F.4. 
 

        �E=>6=O<< 6<44<< ?D46>=4DGL5=<=, E>65DL45<OE >5GG4NM<<<EO, 
O6?ONFEO: 

- =4DGL5=<O  ���; 

-E4<>6>?L=O5 GE>4O =5E>65DL5==>?5F=<E  <7  >5M56<F<O. 

        �E=>6=>= G?>D 6 <=4<6<4G4?L=>= D45>F5 E ?>4D>EF>4<< 45?4?EO  =4 
<7GG5=<5 E5<L<, 5U G>?444 < 5OF4 (E GG5F>< =4E?54EF65==>7> D4>F>D4), 
<7GG4?EO E>F<G< ?>4D>EF>4, 57> >>DG65=<5, <=F5D5EO,  E>EF46?O?EO ??4= 
<=4<6<4G4?L=>=  ?D>D<?4>F<G5E>>= D45>FO E ?>4D>EF>4<<. 

       � F5G5=<5  GG55=>7> 7>44  ?D>6545=O  E?54GNM<5 <5D>?D<OF<O: 

- >?4EE=O5 G4EO, 55E54O, ?5>F<<, 4<E?GFO ?D>D<?4>F<G5E>>= 
=4?D46?5==>EF<; <=D>D<4F<>==O5 ?D4>F<>G<O, >D74=<74F<>==> 3 
45OF5?L=>EF=O5 <7DO, FD5=<=7<, <=F5D=5F - GD>><; 

- >>=>GDE ??4>4F>6 < F5<4F<G5E><E 7475F =4 4=F<4?>>7>?L=GN F5<4F<>G, 
?D>F<6 =4D>><4=<<, %���4 < 4DG7<E «5>?57=5= 65>4»; 

- 6EFD5G< >5GG4NM<EEO «7DG??O D<E>4» E <=E?5>F>D4<< ����  �� ��� 
$>EE<< «%>E=>7>DE><=»,  ���, D45>F=<>4<< >F45?4 ?>  >>=FD>?N 74 
>5>D>F>< =4D>>F<>>6,  E?5F<4?<EF><  &���� < ��, E 6D4G>< ?E<E<4FD>< 3 
=4D>>?>7><,   ?E<E>?>74<<  E>F<4?L=>7>  F5=FD4 «�EO6»; F5=FD4 «�5D4»; 

- ?D>D<?4>F<G5E><5 <5D>?D<OF<O E >5GG4NM<<<EO E<D>F4<<, 
?D>6<64NM<<< 6 >5M56<F<<; 

- ?D>E<>FD F5<4F<G5E><E 6<45>D<?L<>6 ?D>D<?4>F<G5E>>= =4?D46?5==>EF<; 

- ?D>6>4<?EO «�5=L 5>?LL>=  ?D>D<?4>F<><»; 

- D45>F4 %>65F4 ?D>D<?4>F<><; 

-  <=4<6<4G4?L=4O  D45>F4; 

- «�5=L F>?5D4=F=>EF<».    

       �D>6>4<?<EL >>=>GDEO -  E>D56=>64=<5  =4 «�GGLGN GG55=GN 7DG??G» 
(7DG??O 301, 407, 307), «%4<GN E?>DF<6=GN 7DG??G» (7DG??4 301), «�GGL57> 
E?>DFE<5=4 7>44» (�4F455=>> %5D75=). 
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        �E?>?L7>64?<EL   D47?<G=O5 D>D<O ?>>MD5=<O  >5GG4NM<EEO 74 
4>EF<65=<O 6 GG555 <  6=5GG55=>= 45OF5?L=>EF<,  ?>554<F5?O< ?D54<5F=OE  
>?<<?<44 6DGG4?<EL  �>GUF=O5  �D4<>FO, �?47>44DEF65==O5 ?<EL<4, 
?>44D><, �?47>44D=>EF< D>4<F5?O<. 

      �D>6>4<?EO <>=<F>D<=7 6>E?<F4F5?L=>= 45OF5?L=>EF<,  >?D545?O?EO  
GD>65=L 6>E?<F4==>EF<  >5GG4NM<EEO  -  ?> ED46=5=<N  E 2013  7>4>< 
GD>65=L ?>6OE<?EO. 

      �>=>= >E>5>7> 6=<<4=<O  O6?O5FEO:  >5M56<F<5 < 5>DL54 E =4D>>F<>4<<. 
 
      �5>5E>4<<>  ?D<=<<4FL 4>?>?=<F5?L=O5  <5DO ?> E>65DL5=EF6>64=<N 
6>E?<F4F5?L=>= E<EF5<O: 
1.$4EL<DOFL    D>D<O D45>FO E D>4<F5?O<<. 
2.%FD4F57<N 6>E?<F4=<O 4?O >464>7> >5GG4NM57>EO >?D545?OFL =4 >E=>65 
<7GG5=<O 57>      <=4<6<4G4?L=OE >E>55==>EF5= < ?D>7=>74 D476<F<O 
E<FG4F<<. 
3.$4EL<DOFL E>FDG4=<G5EF6> 45F5= < 67D>E?OE; 
4.$476<64FL GG5=<G5E>>5 E4<>G?D46?5=<5; 
5.�D>4>?64FL D45>FG E ?5447>7<G5E><<< D45>F=<>4<< ?> 6=54D5=<N =>6OE 
6>E?<F4F5?L=OE F5E=>?>7<=; 
6.�>6OL4FL MDD5>F<6=>EFL E>6<5EF=>= D45>FO F5E=<>G<4 E  EG5N5>F4<< 
?D>D<?4>F<><. 
7.$4EL<DOFL 6=5GD>G=GN 45OF5?L=>EFL, <E?>?L7GO 6E5  <<5NM<5EO  D575D6O. 
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4. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5. 

 ���' «%&&» D4E?>?>65=> ?> 44D5EG: 169501, $5E?G5?<>4 �><<, 7. 
%>E=>7>DE>, G?. �GD4F>64, 4. 4. 

�5M4O ??>M44L 3 13 406,3 >6.<. 
�<GM5EF6> F5E=<>G<4 O6?O5FEO 7>EG44DEF65==>= E>5EF65==>EFLN  

$5E?G5?<><  �><<,  74>D5??5=>  74 GGD5645=<5<  =4 ?D465 >?5D4F<6=>7>  
G?D46?5=<O �75=FEF6>< $5E?G5?<>< �><< ?> G?D46?5=<N <<GM5EF6>< 6 
E>>F65FEF6<< E �D4644=E><< >>45>E>< $>EE<=E>>= $545D4F<<. 

� F5E=<>G<5 DG=>F<>=<DG5F 12 GG55=OE >45<=5F>6 ?> 
>5M5>5D47>64F5?L=O< 4<EF<??<=4<; 10 >45<=5F>6 3 E?5F4<EF<??<=, <=>7<5 
<7 >>F>DOE DG=>F<>=4?L=O: ?D5?>4464=<5 6 >45<=5F4E 6545FEO ?> 
=5E>>?L><< 4<EF<??<=4<. �4654GNM<5 >45<=5F4<<, =47=4G5==O5 ?D<>47>< 
4<D5>F>D4, >D74=<7GNF E6>N D45>FG 6 E>>F65FEF6<< E �>?>65=<5< >5 
GG55=>< >45<=5F5 < D4E?<E4=<5< D45>FO GG55=>7> >45<=5F4 ?> 4<EF<??<=4< 
GG55=>7> ??4=4, 6>?NG4O ?D>6545=<5 <=4<6<4G4?L=OE 74=OF<=, 
>>=EG?LF4F<=, D4>G?LF4F<6>6 < F.?. $45>F4 >45<=5F>6 ?D>6>4<FEO E>7?4E=> 
??4=4<, D4EE<>FD5==O< =4 74E544=<OE <5F>4<G5E><E >><<EE<= < 
GF65D645==OE 4<D5>F>D>< F5E=<>G<4.   

� ?4E?>DF4E GG55=OE >45<=5F>6 >FD464NFEO >E=>6=O5 7444G<, 
=4?D46?5=<O D45>FO >45<=5F>6, ?5D5G5=L >E=>6=>7> >5>DG4>64=<O, GG55=>-
<5F>4<G5E>>5 >55E?5G5=<5 ?D5?>44645<OE 6 >45<=5F5 4<EF<??<=, 4=4?<7 74 
?D54O4GM<= 7>4 < ??4= D45>FO >45<=5F>6 =4 ?D54EF>OM<= GG55=O= 7>4.  

�D>65D>4 D45>FO >45<=5F4 >EGM5EF6?O5FEO =5 <5=55 2-E D47 6 7>4 
>><<EE<5=, E>EF46 >>F>D>= =47=4G45FEO ?D<>47>< 4<D5>F>D4 F5E=<>G<4.   

� E>45 ?D>65D>< >45<=5F>6 >><<EE<5= 44NFEO D5>><5=44F<<, 
6O?>?=5=<5 >>F>DOE ?D>65DO5FEO ?D< ?>E?54GNM<E ?>E5M5=<OE. �E>5>5 
6=<<4=<5 ?D< ?D>65D>5 G45?O5FEO >55E?5G5=<N GG55=>7> ?D>F5EE4 GG55=>-
<5F>4<G5E><<< >><??5>E4<< ?> ?D5?>44645<O< 6 >45<=5F5 4<EF<??<=4< 6 
E>>F65FEF6<< E FD55>64=<O<< D545D4?L=OE 7>EG44DEF65==OE 
>5D47>64F5?L=OE EF4=44DF>6, >?F<<4?L=>EF< >D74=<74F<< GG55=>7> 
?D>EFD4=EF64, E>45D64=<N ?>EF>O==OE < E<5==OE GG55=>-<=D>D<4F<>==OE 
EF5=4>6, 6O?>?=5=<N E4=<F4D=>-7<7<5=<G5E><E =>D< E>EF>O=<O >45<=5F4. 

� F5E=<>G<5 <<5NFEO FD< >><?LNF5D=OE >?4EE4, >E=4M5==OE 48-<< 
?5DE>=4?L=O<< >><?LNF5D4<< =4 >E=>65 ?D>F5EE>D>6 Pentium, E6O74==O5 6 
?>>4?L=GN E5FL. �?>M44L ?><5M5=<O >45<=5F4 <=D>D<4F<>< E>D>L> 
>D74=<7>64=4 E F>G>< 7D5=<O GG55=>7> ?D>EFD4=EF64: ?><<<> D45>G<E <5EF E 
>><?LNF5D4<< 6 >45<=5F4E <<5NFEO GG55=O5 ?4DFO. -F> ?>76>?O5F =4<5>?55 
>?F<<4?L=> >D74=<7>6O64FL GG55=O= ?D>F5EE.  

�?O GE?5L=>7> ?D<<5=5=<O =>6OE <=D>D<4F<>==OE F5E=>?>7<= 6 
GG55=>< ?D>F5EE5 6 >45<=5F4E <<5NFEO <>45<O 4?O 6OE>44 6 Internet, 
E>4=5DO < ?D<=F5DO. �E=4M5==>EFL >><?LNF5D=OE >45<=5F>6 ?>76>?O5F 
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4>F<6=> 6=54DOFL < <E?>?L7>64FL 6 >5D47>64F5?L=>< ?D>F5EE5 =>6O5 
<=D>D<4F<>==O5 F5E=>?>7<<. �OFL GG55=OE >45<=5F>6 >E=4M5=O   
<=F5D4>F<6=O<< 4>E>4<<. 

�?O >5GG5=<O ?> ?D>D5EE<< «�?5D4F>D =5DFO=OE < 747>6OE E>646<=»  
<E?>?L7GNFEO 6<DFG4?L=O5 ?45>D4F>D=O5 D45>FO, 4 F4>65 >><?LNF5D=O= 
FD5=465D «�5E?G6<64=<5 =47=5F4F5?L=OE E>646<=». �D< ?>47>F>6>5 
<4L<=<EF>6 4>D>6=>-EFD><F5?L=OE <4L<= < 46F><5E4=<>>6 <E?>?L7G5FEO 
GG55=>-<5F>4<G5E><= >><??5>E «'EFD>=EF6>, ?D<=F<? 45=EF6<O, 
M>E??G4F4F<O < F5E=<G5E>>5 >5E?G6<64=<5 FD4>F>D>6 < 46F><>5<?5=», 
>>F>DO= 6>?NG45F 6 E55O F5>D<N, ?D4>F<G5E><5 7444=<O, FD5=465DO, F5EFO < 
E?D46>G=O5 <4F5D<4?O. 

� F5E=<>G<5 <<55FEO <G?LF<<54<==4O F5E=<>4, ?>76>?ONM4O 6 E>45 
?D>6545=<O GG55=OE 74=OF<=, ?54E>65F>6, E5<<=4D>6, >>=D5D5=F<=, 
?D54EF46?5=<= D45>F >5GG4NM<EEO <E?>?L7>64FL <G?LF<<54<==O5 
?D575=F4F<<. 

�D5?>4464F5?O<< E>744NFEO M?5>FD>==O5 64D<4=FO F5EF>6, 
>>=FD>?L=OE D45>F < 4D., E>5<D45FEO GG55=O= < GG55=>-<5F>4<G5E><= 
<4F5D<4? =4 M?5>FD>==OE =>E<F5?OE. 

� F5E=<>G<5 DG=>F<>=<DGNF 14 GG55=>-?D><76>4EF65==OE <4EF5DE><E 
< ?45>D4F>D<=, >>F>DO5 >E=4M5=O E?5F<4?<7<D>64==O< >5>DG4>64=<5<, 
=5>5E>4<<O< 4?O D54?<74F<< ?D>D5EE<>=4?L=OE >5D47>64F5?L=OE ?D>7D4<< 
6 E>>F65FEF6<< E FD55>64=<O<< D545D4?L=OE 7>EG44DEF65==OE 
>5D47>64F5?L=OE EF4=44DF>6.  

%>744=O ?45>D4F>D<O <<>D>5<>?>7<<, E4=<F4D<< < 7<7<5=O, 
?45>D4F>D<O F5E=<G5E>>7> >E=4M5=<O < >D74=<74F<< D45>G57> <5EF4.          
�D<>5D5F5=> GG55=>-?45>D4F>D=>5 >5>DG4>64=<5 4?O ?>47>F>6>< 
E?5F<4?<EF>6 ED54=57> 765=4 ?> E?5F<4?L=>EF< «�>=F46, =4?44>4 < 
M>E??G4F4F<O M?5>FD>>5>DG4>64=<O ?D><OL?5==OE < 7D4644=E><E 744=<=», 
6 F.G. F<?>6>= >><??5>F GG55=>7> >5DG4>64=<O «-?5>FD>F5E=<>4 < >E=>6O 
M?5>FD>=<><»(<E?>?=5=<5 EF5=4>6>5 DGG=>5 <<=<<>4G?L=>5).  

'G55=>-?D><76>4EF65==O5 <4EF5DE><5 < ?45>D4F>D<< >E=4M5=O 
EF4=>4<<, <=EFDG<5=F4<<, ?D<E?>E>5?5=<O<<, <4>5F4<<, =4FGD4?L=O<< 
>5D47F4<<, EF5=44<<, ??4>4F4<<, F45?<F4<<, EE5<4<<, <>45?O<< < 
MF4?>==O<< <745?<O<<, 6<45><4F5D<4?4<<.  

� F5E=<>G<5 DG=>F<>=<DGNF 2 E?>DF<6=OE 74?4, <54<F<=E><= 
>45<=5F, EF>?>64O =4 150 <5EF, 5?47>GEFD>5==>5 >5M56<F<5 =4 160 <5EF. 

�?O ?>47>F>6>< >5GG4NM<EEO ?> ?D>D5EE<< «�4L<=<EF 4>D>6=OE < 
EFD><F5?L=OE <4L<=» <<55FEO FD4>F>D>4D><, =4 >>F>D>< ?D>6>4<FEO 
?D4>F<G5E>>5 6>645=<5 =4 E4<>E>4=>= F5E=<>5. �> ?D>D5EE<< «�>4<F5?L 
46F><>5<?O» >4F57>D<< «�, %» >5GG4NM<5EO ?D>E>4OF ?D4>F<G5E>>5 
6>645=<5 =4 74>DOF>= ??>M44>5. �4D> GG55=>= 46F><>5<?L=>= F5E=<>< 
E>EF46?O5F 6 54<=<F, E4<>E>4=OE <4L<= 3 5 54<=<F.  
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